
  

Analogsignal=A⋅t⋅e
−
t


threshold=A⋅

e

cut on ADC=k∫ A⋅t⋅e
−
t
=k⋅A⋅2

A_ps*t_ps + A_sh*t_sh > const
ADC_ps=k*A_ps*t_ps^2
ADC_sh=k*A_sh*t_sh^2

ADC_ps*t_sh + ADC_sh*t_ps > const

Right

Left



  

The Theory

Deadtime group=RT1.no.GC×W T1in−W T1out

RGC.no.T1×WGCin−WGCout 

Rgroup×W path

Theory:

Assumption:  Noises are random, i.e. independent of the real physics signal

GC rate:

T1 rate:

GC & T1

GC no T1

T1 no GC

Electrons

Pions and ? 

ghosts?

Noise

W_T1in means the width of T1 signal as the input of 755.
                                       etc.....

Deadtime global ≈RT1.no.GC×W T1in−W T1out

RGC.no.T1×WGCin−WGCout 



  

Right Arm

Left Kine 1

Left Kine 2



  

(0.61 * (100 – 20) + 0.5 * (100 – 55) )*1e-4 = 0.00713

Before After
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